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‘M.A. 3rd Semester Exammatlon, 2018
| SOCIOLOGY
- PAPER -~80C-303
Full Marks : 50
Time : 2 hours
The figures in the right-hand margin indicate marks

Candidates are required to give their answers in their
| own words as far as practicable

Hlustrate the answers wherever necessary

1. Alnswer any two of the following questionjs :10%x2
(¢) Elucidate Louis Wirth's idea of Urbanism.

(b) Briefly discuss the role of Division of
' Labour, specialisation and heterogenelty in
industrial society.

(¢) 'Is Indian agriculture becoming capitalist
mode of production 7' — Discuss your

casc.
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(d) Isthe Indian village dwindling ? Argue your
case.

2. Answer any four of the following questions : 5 x 4

(a) Briefly discuss typology of socxety according
to Gerhard Louski.

(&) Write a short note on-Betteille's motion of
Agrarian Social structure.

(¢) What do you mean by rural-urban continuum ?
(d) Discuss the characteristics of peasantry.

(¢) Compare Marx's notion of Industrial socicty
to that of Durkheim's notion of Industrial
Society.

(/) What s non-farm employment ?

{ Internal Assessment : 10 Marks}
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